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107 # 32 ipas -k FRpEEREL

. X2 O N
" P . kN X slefpe | A | L | esp | e - ] )
5 p iwit [7nw |-kig | & | B & | pH [ DO |BOD|COD [ #| ™, | SS ﬁﬂi; fkfﬁ%$ ik ga ) 4 £ & | 4 A 3 4 4 &
2 g " ~ i w+
i cm/s | A& C |NTU | psu -- | mg/L | mg/L | mg/L /ICOSI:L mg/L | mg/L | mg/L | pg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L
REENT BN -- - -- |<0.05| -- - [<0.1]1<2.0]2.03|<10|<0.5]<2.51<0.5]<0.3{0.004]0.003{0.011]0.0111]0.02410.00041]0.00005|<0.000250.00014{0.00014/0.00036]0.00009{0.00018[0.00026|0.00018
TREARREERE | - | - | - | - | - |75 >50§2.O -- 11000 -- -- 2 - | - - [=03| -- - 0.05 | 0.01 0.05 0.03 -- 10.002 | 0.05 -- 0.1 0.5
cggago ke | | - | - - | - [8S] =30 - | - -] ~-]2]|-]~-|~-]|~-]-]-]005|001] 005 [003| — ]0002]( 0.05 - 0.1 0.5
Pz p i
(e i;")y 25 1120123.5{0.90|34.71 8.1 | 7.1 | <20] 6.3 | <10]<0.5[{<2.5]1<0.5{0.910.04]0.01 | ND [0.171]0.103{0.0011| ND [<0.00025/0.0015{0.0008] ND [0.0007|0.0002| ND ]0.0026
: T:25.7°C
b g | 107328
(" ) 40 | 250(23.410.80(34.8(8.0] 7.1 | <2.0| 4.7 | <10[<0.5]1<2.51<0.5]0.910.05]0.01]0.030.168/0.088{0.0011] ND |<0.00025{0.0025{0.0007 ND [0.0006(0.0002| ND [0.0031
#F T:26.3°C
e 1107327
& TR 210 17 [22.11 2.7 |3421 8.1 7.0 <2.0] 42 ] 20 |<0.5{ 3.8 [<0.5]1.2]10.06]0.02]0.0810.024({0.084]0.0015] ND [<0.00025{0.0012{0.0005] ND ]0.0012{0.0003{ ND }0.0012
o xmy | T:23.1°C
(& %)
N LA E|1073.27
T 250 33 1223 1.5|343|82| 7.0 <20 52 | 50 |<0.5| 2.8 |<0.5(1.5]0.04]0.02]0.0810.062]0.103{0.0015| ND [<0.00025/0.0011{0.0011f ND [0.000810.0003| ND ]0.0014
o &F T:23.1C
(= =)
AokiE 1073227
s v 2001 18 [22.51 2.0 |343]8.1] 6.8 | <2.0] 4.1 |]100[<0.5{ 44 [<0.5]1.8]10.06](0.02]0.11]0.190{0.095]0.0012f ND [<0.00025{0.0011{0.0006f ND ]0.0011{0.0004{ ND ]0.0046
o x5y | T:23.1°C
(& %)
o | 107.3.27
(¢ #7) 2551120122.6| 3.2 |34.0| 82| 7.0 | <2.0| 5.7 | <10]|<0.5| 6.2 |<0.5(2.4]0.06]0.02]0.1210.200{0.110{0.0014| ND [<0.00025]0.0007({0.0005| ND |0.0022]|0.0003| ND ]0.0025
: T:23.5C
b | 107.3.27
(¢ #7) 260115122422 (341|182 7.0 | <2.0] 5.2 | <10]<0.5| 81 |<0.5{0.9]0.06]0.02]0.10]0.195]0.084(0.0012| ND [<0.00025]0.0007({0.0006f ND [0.0010|0.0003| ND ]0.0023
: T:23.5C
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107 # 3% pas-KFRpEEREL

oy
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, . MEXR! gl me | el m ] ,
5 it |t |k |w & @& | pH | DO |BOD|coD [ H[™" | ss 1w [ f‘ e A f‘ molw | s | w|s | ale | 8|l s
23 | - —%a i fix B .
i cm/s | A& C |NTU | psu -- | mg/L | mg/L | mg/L /ICOSI:L mg/L | mg/L | mg/L | pg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L
REENTBIIE AN -- - -- |<0.05| -- - [<0.1]1<2.0]2.03|<10|<0.5]<2.5]1<0.5]<0.3{0.004]0.003{0.011]0.0111]0.02410.00041]0.00005|<0.000250.00014{0.00014/0.00036]0.00009{0.00018]0.00026{0.00018
TREARREERE | - | - | - | - | - |75 =50 =2.0]| -- (1000 -- -- 2 - | - - [=03| -- - 0.05 | 0.01 0.05 0.03 -- 10.002 ] 0.05 -- 0.1 0.5
cggao ke | | - - | - | -85S =30 - | - |- ~-]2]|-]~-|~-]-]-]-]005f001] 005 [003| - |0.002] 0.05 - 0.1 | 05
P =k p i
KiFEF 1 107.3.28
£ A Sl 10 | 115123.4(0.80({34.5]1 79| 7.0 | <2.0| 4.1 | <10]<0.5(<2.5]<0.5(0.6]10.05]0.01 | ND 10.150]0.088(0.0011| ND [<0.00025/0.0019{0.0007| ND |[0.0011{0.0003] ND ]0.0030
v %7 T:25.7°C
(= 5)
KiFEF1107.3.28
I£15 5 S3 10 | 180 (23.8] 27 |31.5[{ 69| 7.2 | <2.0| 6.1 |<10[<0.5]20.1<0.5{<0.310.10]0.01 | 0.03 {0.144/0.092]0.0057]0.0002]<0.00025} 0.102 {0.0005] ND [0.0648(0.0062| ND |0.0281
(e #) | T:25.7C

LA ARG RIE A HHRE




4 18R ﬁﬁ?j‘;f B & 5%

MR AR R RIT G, AMER M IR R R dp T2 e (T SRR
- Ru(e HKA) ~ P (e AR AR) S KTRIF IS A (SD(e HokAl) ~ k)
T FETE 4 (S3) (2 Haok ) ~ ¢ o RIR(C HOKE) > T B R (e SOk
N EAE T (O SRR E Kok A T (2 SRR % 4 B E P B Bk,
WY ERN L 2R X, FA BRI CEIREME 30 2, X 36 =
PR A FN S 1516 P ¢ 2% NAEKRR,T WE 107 £ B
57 )2 HRARMINE YA B R B THP 25

PORRE S R BIFIERE A ST RIS S3 v F R R N 2
4;4;*3 SHCRE AR T P RE P REERIRFZ pH B3
T HP R T R e A RRESTHRE S P Rz
T ERFE 25 2P FFE \?%#ﬂ'f“iywa% e
B it o RIbE £ BANA (R S 4E 4R~ 45 -0~ A 42
)y R ETEA MR MR AR -

\



107 & 5% A RETRESEREL

. X2 O N
. - | S . A ZA| L o |FAR| P B _ }
57 8 i |ima|ke|s | @a|pH | Do |BoD|con |k g™ | ss | PRI EN s s IPENFR L e | g | s | w | @ | 2 | & | 8 | & | &
A a2 |ma 2
¥ "6
i cm/s | A& C |NTU | psu -- | mg/L | mg/L | mg/L /ICOSI:L mg/L | mg/L | mg/L | pg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L
REENT BN -- - -- [<0.05] -- - [<0.1]1<2.0]2.03|<10|<0.5]<2.51<0.5]<0.3{0.004]0.003{0.011]0.0111]0.02410.00041]0.00005|<0.000250.00014{0.00014/0.00036]0.00009{0.00018[0.00026|0.00018
TREARREERE | - | - | - | - | - |75 >50§2.0 -- 11000 -- -- 2 - | - - [=03| -- - 0.05 ] 0.005] 0.05 0.03 -- 0.001 [ 0.05 0.1 0.01 0.5
oAk FERE [ | - f - - | - 8T =30 - | - -2~~~ -)|-]|~-] - ]005]0005] 005 [003]| -- |0001]005]| 01 | 001 | 05
Pz p i
(e i;")y 20.01 018 127.6{0.50|34.2|1 8.0 | 6.6 | <2.0| 3.1 | 30 |<0.5[<2.5]<0.5{<0.3]10.05| ND | ND |0.060]0.120{0.0011| ND [<0.00025]0.0019{0.0003] ND [0.0056]0.0002| ND ]0.0066
: T:29.1C
tw g | 107.5.16
(" ) 35.01165125.7{0.50|34.2| 8.1 | 72 | <2.0| 3.4 | 10 |<0.5[<2.5]<0.5({1.810.03| ND | ND |0.068]0.095{0.0012( ND [<0.00025]0.0011{0.0002] ND [0.0006f ND [0.0003]0.0036
#F T:29.3°C
e 1107515
W 90.01 080 [28.41 2.3 |33.7{80]) 6.4 | <2.0| 3.6 | 40 |<0.5] 3.8 |<0.5{2.710.09]0.01 10.05( ND [0.081]{0.0017( ND [<0.00025]0.000510.0002f ND {0.0003]0.0003| ND [0.0050
o 5y | T:27.3°C
(& %)
NLAEN 107515
T 40.01 244 (28.3]1 2.9 [32.0{ 8.0 6.1 [ <2.0| 3.4 | 110 [<0.5] 6.1 |<0.5]1.810.12]0.04 | 0.49 [0.141]0.102]0.0013] ND |<0.00025{0.0005]0.0004] ND ]0.0063{0.0004| ND [0.0056
o &F T:28.3°C
(= =)
HoRP 1107515
RIDE 45.01130128.1 1.9 1339180 6.0 | <20] 3.4 | 55 |<0.5] 4.2 1<0.511.5(0.09]0.010.07 | ND ]0.11010.0015]0.0001 {<0.00025{0.0005]0.0003] ND [0.000710.0003| ND [0.0062
o 5y | T:284C
(& %)
bio e | 107515
(¢ #7) 55.01086127.210.40(34.5]1 81 6.2 | <2.0] 3.3 |<10]<0.5(<2.51<0.5]10.3]0.08( ND | ND | ND |0.099{0.0014] ND [<0.00025]0.0005{0.0003] ND [0.0007| ND ND ]0.0036
)| T:27.5C
b | 107515
(¢ #) 60.01 093 127.3(0.40|34.4| 8.1 6.2 | <20 3.8 |<10]<0.5[<2.5]<0.5({0.3]10.04| ND | ND | ND |0.156(0.0015| ND [<0.00025]0.0003{0.0007 ND [0.0007| ND ND ]0.0039
)| T:27.4C
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107 & 5% AP RETRESEREL

A X2 P N
. o | S S| TR L |ERpR | P Bk _ ,
5 it |t |k |w & @& | pH | DO |BOD|coD [ H[™" | ss 1w [ f‘ e A f‘ molw | s | w|s | ale | 8|l s
23 | - —%a i fix B .
i cm/s | A& C |NTU | psu -- | mg/L | mg/L | mg/L /ICOSI:L mg/L | mg/L | mg/L | pg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L
REENTBIIE AN -- - -- |<0.05| -- - [<0.1]1<2.0]2.03|<10|<0.5]<2.5]1<0.5]<0.3{0.004]0.003{0.011]0.0111]0.02410.00041]0.00005|<0.000250.00014{0.00014/0.00036]0.00009{0.00018]0.00026{0.00018
TREARREERE | - | - | - | - | - |75 =50 =2.0]| -- (1000 -- -- 2 - | - - [=03| -- - 0.05 | 0.01 0.05 0.03 -- 10.002 ] 0.05 -- 0.1 0.5
cggao ke | | - - | - | -85S =30 - | - |- ~-]2]|-]~-|~-]-]-]-]005f001] 005 [003| - |0.002] 0.05 - 0.1 | 05
P =k p i
KiFF | 107.5.16
£ A Sl 60.0]1 133 126.7(0.45|34.4]1 80| 6.6 | <20 3.3 | 10 |<0.5[<2.5]<0.5(0.610.05| ND | ND [0.033]0.152(0.0015( ND [<0.00025/0.0020{0.0003| ND [0.0020{0.0003] ND ]0.0057
o %7 T:29.1C
(= 5)
KiEF | 107.5.16
I£15 5 S3 10.0260 (27.3| 28 [309|7.71 6.7 [ <20 3.5 | 20 [<0.5]21.9]<0.5]1<0.3]10.09| ND | ND [0.172{0.152] ND ND [<0.00025{0.0007{0.0013] ND {0.0013]10.0003| ND [0.0057
¢ x| T:29.1C
(& )
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107 # 8 * AR ETRESEREL

. X2 O N 1
. - | S . A ZA| L o |FAR| P B _ }
57 8 i |ima|ke|s | @a|pH | Do |BoD|con |k g™ | ss | PRI EN s s IPENFR L e | g | s | w | @ | 2 | & | 8 | & | &
A a2 |ma 2
¥ i
i cm/s | A& C |NTU | psu -- | mg/L | mg/L | mg/L /ICOSI:L mg/L | mg/L | mg/L | pg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L
REENT BN -- - -- [<0.05] -- - [<0.1]1<2.0]2.05|<10|<0.5]<2.5]1<0.5]<0.3{0.004]0.004{0.012]0.0113]0.02410.00041]0.00006|<0.00025]0.00015[0.00014/0.00037]0.00011{0.00019/0.00028|0.00019
TREARREERE | - | - | - | - | - |75 >50§2.0 -- 11000 -- -- 2 - | - - [=03| -- - 0.05 ] 0.005] 0.05 0.03 -- 0.001 [ 0.05 0.1 0.01 0.5
oAk FERE [ | - f - - | - 8T =30 - | - -2~~~ -)|-]|~-] - ]005]0005] 005 [003]| -- |0001]005]| 01 | 001 | 05
Pz p i
(¢ #7) 25.71260129.610.75(33.6( 7.6 | 6.9 | <2.0| 9.2 | 10 |<0.5] 3.2 [<0.5{<0.3{0.02]0.01 | 0.03 ]0.172]0.111]0.0011] ND [<0.00025{0.0013{0.0009f ND (0.0012{0.0010] ND {0.0097
' T:30.2°C
i i | 107.8.8
(" ) 26.81305130.5{0.40|33.6| 80 6.6 | <20 7.1 | 10 |<0.5[<2.5]<0.5{0.6 | ND |0.01 | ND |1.12]0.129{0.0016( ND [<0.00025]0.0004({0.0009] ND [0.0008|0.0003| ND ]0.0038
#F T:31.2°C
e 1 10787
W 0.6 | 27 12721 1.7 |33.3]18.0| 7.2 | <20 8.8 55 |<0.51 3.2 1<0.5]13.3]0.02]0.030.0410.046]0.10310.0011] ND [<0.00025{0.0004{0.0012] ND {0.0006]0.0007|0.0005{0.0053
o 5y | T:28.1°C
(& %)
NLAE] 10787
T 0.51225(27.4] 1.5 (335180 6.8 [ <2.0| 84 | 110 [<0.5]| 3.9 |<0.5]12.4(0.04| ND |0.11 {0.040{0.12210.0011] ND [<0.00025{0.0004]0.0010] ND ]0.0007]0.0003| ND [0.0043
o &F T:28.3°C
(= =)
AokE107.8.07
RIDE 1.0 | 173 128.1| 1.1 |33.5] 80| 6.8 | <2.0| 7.3 | <10|<0.5] 3.4 |<0.5]1.5]0.03( ND | 0.04 {0.050{0.107]0.0011] ND [<0.00025{0.000410.0009] ND [0.0006]0.0003| ND [0.0051
o 5y | T:28.6C
(& %)
- 107.8.7
(¢ #7) 0.7 1194 28.4] 1.6 {33.7]18.0] 6.8 | <2.0| 10.1 | 15 [<0.5]| 2.8 |<0.5]10.30.05] ND | ND [0.076{0.08110.0009] ND |<0.00025{0.0003]0.0009] ND ]0.0007{0.0004| ND |0.0081
) T:29.1C
- 107.8.7
(¢ #) 0.51171(28.610.90(33.7] 8.0 6.7 | <2.0| 8.6 | <10 |<0.5|<2.5|<0.510.310.03| ND | ND [0.052]0.096]10.0008] ND [<0.00025{0.0003]0.0009] ND ]0.00080.0003 [0.0003]0.0050
)| T:29.8°C
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107 & 8 * A RETRESEREL

A X2 O B
. o | S S| TR L |ERpR | P Bk _ ,
5 it |t |k |w & @& | pH | DO |BOD|coD [ H[™" | ss 1w [ f‘ e A f‘ molw | s | w|s | ale | 8|l s
23 | - —%a i fix B .
i cm/s | A& C |NTU | psu -- | mg/L | mg/L | mg/L /ICOSI:L mg/L | mg/L | mg/L | pg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L
REENTBIIE AN -- - -- |<0.05| -- - [<0.1]1<2.0]2.05|<10|<0.5|<2.5]1<0.5]<0.3{0.004]0.004{0.012]0.0113]0.02410.00041]0.00006|<0.00025]0.00015[0.00014/0.00037]0.00011{0.00019]0.00028]0.00019
TREARREERE | - | - | - | - | - |75 >50§2.O -- 11000 -- -- 2 - | - - [=03| -- - 0.05 ] 0.005] 0.05 0.03 -- 0.001 | 0.05 0.1 0.01 0.5
oAk ERE [ | - f - - | - 8T =30 - | - ~-|~-]2]~-]~-|-)|-]|-~-] - ]005]0005] 005 [003]| -- [0001]| 005 | 01 | 001 | 05
P =k p i
KiFEF | 107.8.8
£ A Sl 10.2]280129.9| 6.1 {3271 75| 6.7 | <20 7.9 | 10 |<0.5| 8.1 |<0.5(0.6]0.03]0.02]0.01]0.154{0.118{0.0037(0.0001{<0.00025/0.0168(0.0015| ND |[0.0478[0.0030] ND ]0.0117
v %7 T:30.5°C
(= 5)
KiFEF 1 107.8.8
I£15 5 S3 10.21280(29.8{0.50({33.7( 7.7 6.8 [ <2.0| 88 | 15 [<0.5] 3.3 |<0.510.3]10.01{0.01 [ ND [1.22]0.10010.0011]0.0001}<0.00025{0.0019{0.0014] ND |0.0013]0.0004| ND [0.0051
¢ x7) | T:30.4°C
(& )
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